Name:

Date:

Teacher:

Class:

Addition and Subtraction 501

What is a bow that is impossible to tie? A rainbow.

Calculate.
1 4,663 2 7,547 3 6,970 4 4,915 > 7,378 & 1,875
+ 3,221 + 1,152 + 3,019 4050 + 1,121 4,023
! 3,509 8 7,282 ° 2,511 0. 9589 1. 6,320 12 1,839
-1,108 -1,111 - 1,511 1,222 - 1,300 1,717
13. 2896 14 795515 52031 14901 6,393 1394
+ 4,102 + 2,020 + 3,290 6,108 + 2,000 6,405
19. 8,243 200 6,549 2. 7703 22 2,704 %3 7,162 ** 7,858
- 1,121 -1325 - 1,501 1,403 - 1,122 1,741
256,357 %6 7,739 2" 59132 5071 % 4,686 30 20932
+ 2522 + 2,160 + 1,072 1,718 + 5,101 4,012
sl. 9,781 3% 6,837 33 6,56853% 98773 89163 5588
- 1,161 - 1,805 - 1,445 1,135 - 1,414 1,283
37. 8,700 38 8,604 3 8,220 40 8,339
+ 1,108 + 1,395 + 1,550 1,010
© Facilitators Ferriswheel WS#:A&S501 Score:



Answer Key

Date:

Teacher:

Class:

Addition and Subtraction 501

Calculate.

What is a bow that is impossible to tie? A rainbow.

L. 4,663 % 7,547 3 6,970 4 4,915 > 7,378 & 1,875
+ 3,221 + 1,152 + 3,019 4050 + 1,121 4,023
7,884 8,699 9,989 8,965 8,499 5,898
£ 3,509 & 7,282 ° 2,511 0. 9589 1. 6,320 12 1,839
-1,108 -1,111 - 1,511 1,222 - 1,300 1,717
2,401 6,171 1,000 8,367 5,020 122
13. 2896 14 795515 52031 14901 6,393 1394
+ 4,102 + 2,020 + 3,290 6,108 + 2,000 6,405
6,998 9,975 8,493 7,598 8,393 7,799
19. 8,243 200 6,549 2. 7703 22 2,704 %3 7,162 ** 7,858
- 1,121 -1325 - 1,501 1,403 - 1,122 1,741
7,122 5,224 6,202 1,301 6,040 6,117
256,357 %6 7,739 2" 59132 5071 % 4,686 30 20932
+ 2522 + 2,160 + 1,072 1,718 + 5,101 4,012
8,879 9,899 6,985 6,789 9,787 6,944
sl. 9,781 3% 6,837 33 6,56853% 98773 89163 5588
- 1,161 - 1,805 - 1,445 1,135 - 1,414 1,283
8,620 5,032 5,140 8,742 7,502 4,305
37. 8,700 38 8,604 3 8,220 40 8,339
+ 1,108 + 1,395 + 1,550 1,010
9,808 9,999 9,770 9,349
© Facilitators Ferriswheel WS#:A&S501 Score:



